Fill in this	information to identify the case:
Debtor 1	Fox Ortega Enterprises, Inc.
Debtor 2	

United States Bankruptcy Court for the: Northern District of California

APR 8 2016 MKAUPTCY COURT AND, CALIFORNIA

Official Form 410

(Spouse, if filing)

Proof of Claim

Case number 16-40050 WJL 7

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

Part 1: Identify the Claim

1.	Who is the current creditor?	Scot T. Hasselm Name of the current cr Other names the credit	editor (the person or e	ntity to be paid for this cl				
2.	Has this claim been acquired from someone else?	☑ No ❑ Yes. From who	m?					
з.	Where should notices and payments to the creditor be sent?	Where should noti Scot T. Hasseln		be sent?	Where shou different)	ld payments to th	ne creditor b	e sent? (if
	Federal Rule of	Name			Name			
	Bankruptcy Procedure	606 Cameron S	troot		Manie			
	(FRBP) 2002(g)	Number Street			Number	Street		······
		Alexandria	VA	22314				
		City	State	ZIP Code	City	St	ate	ZIP Code
		Contact phone 202-4	14-9268		Contact phone			_
		Contact email shase	selman@gmail.o	com	Contact email			-
		Uniform claim Identifier	for electronic paymen	ts in chapter 13 (if you u	se one): 			
4.	Does this claim amend one already filed?	☑ No ❑ Yes. Claim num		registry (if known)		Filed or	MM / DD	/ YYYY
5.	Do you know if anyone else has filed a proof of claim for this claim?	☑ No ❑ Yes. Who made						

3.	Do you have any number you use to identify the debtor?	 ✓ No ❑ Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:
7.	How much is the claim?	\$25,765.28. Does this amount include interest or other charges? ☑ No
		Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).
3.	What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c).
		Limit disclosing information that is entitled to privacy, such as health care information.
		Goods sold and not delivered.
).	Is all or part of the claim secured?	 ✓ No ❑ Yes. The claim is secured by a lien on property.
		Nature of property:
		Real estate. If the claim is secured by the debtor's principal residence, file a <i>Mortgage Proof of Claim Attachment</i> (Official Form 410-A) with this <i>Proof of Claim</i> .
		 Motor vehicle Other. Describe:
		Basis for perfection:
		Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)
		Value of property: \$
		Amount of the claim that is secured: \$
		Amount of the claim that is unsecured: \$(The sum of the secured and unsecured amounts should match the amount in line 7.)
		Amount necessary to cure any default as of the date of the petition: \$
		Annual Interest Rate (when case was filed)%
		 Fixed Variable
0,	ls this claim based on a lease?	2 No
	lease?	□ Yes. Amount necessary to cure any default as of the date of the petition. \$
1.	Is this claim subject to a right of setoff?	
		☐ Yes. Identify the property:

Case 16-40050 Claim 1626 Filed 04/08/16 Official Form 410 Proof of Claim

e 1

Desc Main Document

Page 2 of 6 page 2

12. Is all or part of the claim	Mo No	
entitled to priority under 11 U.S.C. § 507(a)?	Yes. Check one:	Amount entitled to priority
A claim may be partly priority and partly	Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$
nonpriority. For example, in some categories, the law limits the amount entitled to priority.	□ Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$
	Wages, salaries, or commissions (up to \$12,850*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4).	\$
	Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$
	Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
	□ Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$
	* Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun on or aft	er the date of adjustment.

The person completing this proof of claim must sign and date it. FRBP 9011(b). If you file this claim electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is. A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.	 I am the true I am a guara I am a guara I understand that amount of the classification I have examined and correct. I declare under p Executed on date Signature 	ditor. ditor's attorney or authorized agent. stee, or the debtor, or their authorized agent. Bankrup antor, surety, endorser, or other codebtor. Bankruptcy an authorized signature on this <i>Proof of Claim</i> serve aim, the creditor gave the debtor credit for any payme the information in this <i>Proof of Claim</i> and have a reas renalty of perjury that the foregoing is true and correct	Rule 3005, s as an ackno nts received sonable belie	owledgment that when calculating the toward the debt.
	Name	Scot Thomas Hasselman		
		First name Middle name		Last name
	Title			
	Company			·
		Identify the corporate servicer as the company if the author	ized agent is a	a servicer.
	Address	606 Cameron Street		
		Number Street		
		Alexandria	VA	22314
		City	State	ZIP Code
	Contact phone	202-414-9268	Email shas	selman@gmail.com

\$475.00 \$61.74 \$123.49 \$74.75 \$59.99 \$87.00 \$87.00 \$81.00 \$55.00	\$475.00 \$61.74 \$123.49 \$74.75 \$33.99 \$81.00 \$81.00 \$55.00 \$129.99 \$129.99	\$475.00 \$61.74 \$123.49 \$74.75 \$59.99 \$87.00 \$87.00 \$55.00 \$129.99 \$129.99 \$39.99	\$475.00 \$61.74 \$123.49 \$74.75 \$33.99 \$81.00 \$129.99 \$129.99 \$129.99 \$129.99	\$475.00 \$61.74 \$123.49 \$74.75 \$59.99 \$87.00 \$87.00 \$129.99 \$129.99 \$129.99 \$129.99 \$129.99 \$38.75	\$475.00 \$61.74 \$123.49 \$74.75 \$33.99 \$87.00 \$81.00 \$129.99 \$129.99 \$129.99 \$129.99 \$399.99 \$399.99	\$475.00 \$61.74 \$123.49 \$74.75 \$59.99 \$81.00 \$81.00 \$129.99 \$129.99 \$129.99 \$399.99 \$229.99 \$229.99	\$475.00 \$61.74 \$123.49 \$74.75 \$33.99 \$81.00 \$55.00 \$129.99 \$129.99 \$129.99 \$399.99 \$22.99 \$104.99 \$104.99	\$475.00 \$61.74 \$123.49 \$74.75 \$59.99 \$87.00 \$81.00 \$129.99 \$129.99 \$129.99 \$3399.99 \$229.99 \$229.99 \$229.99 \$229.99 \$229.99 \$209.99	\$475.00 \$61.74 \$123.49 \$74.75 \$59.99 \$81.00 \$55.00 \$129.99 \$129.99 \$129.99 \$129.99 \$129.99 \$104.99 \$104.99 \$104.99 \$149.49		
 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 05 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 05 Dom Ruinart Blanc de Blancs 2013 Beursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Chablis Vaudesir, Fevre 	2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Buurgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Batard Montrachet, Jadot	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Chablis Vaudesir, Fevre 2013 Batard Montrachet, Jadot 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 06 Taittinger Comtes de Champagne Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Batard Montrachet, Jadot 2013 Chablis Vaudesir, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Foure 2013 Chablis Preuses, Foure 2013 Chablis Preuses, Foure 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Echezeaux, Fourrier 2013 Batard Montrachet, Jadot 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2011 Clos de la Roche V.V. Magnum, Ponsot 2012 Chablis Blanchots, Raveneau 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Echezeaux, Fourrier 2013 Erbablis Vaudesir, Fevre 2013 Chablis Vaudesir, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Blanchots, Raveneau 2012 Chablis Blanchots, Raveneau 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Batard Montrachet, Jadot 2013 Chablis Vaudesir, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2014 Clos de la Roche V.V. Magnum, Ponsot 2012 Chablis Blanchots, Raveneau 05 Taittinger Comte de Champagne Blanc de Blancs Magnum 	2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Bursogne Rouge, Fourrier 2013 Chablis Vaudesir, Fevre 2013 Chablis Vaudesir, Fevre 2013 Chablis Preuses, Fevre 2011 Clos de la Roche V.V. Magnum, Ponsot 2012 Chablis Blanchots, Raveneau 2012 Chablis Blanchots, Raveneau 05 Taittinger Comte de Champagne Blanc de Blancs Magnum 03 Krug Brut	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 02 Dom Ruinart Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Buard Montrachet, Jadot 2013 Batard Montrachet, Jadot 2013 Batard Montrachet, Jadot 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Preuses, Fevre 2013 Chablis Blanchots, Raveneau 2012 Chablis Blanchots, Raveneau 3012 Chablis Blanchots V.V., Billaud-Simon 	 2013 Bonnes Mares, Laurent 2013 Chambolle Musigny Feusselottes, Pousse d'Or 2013 Volnay Chevrets, Boillot 2013 Volnay Chevrets, Boillot 2013 Beaune Clos des Ursules, Jadot 06 Taittinger Comtes de Champagne Blanc de Blancs 06 Taittinger Comtes de Champagne Blanc de Blancs 2013 Meursault Perrieres, Jadot 2013 Bourgogne Rouge, Fourrier 2013 Bourgogne Rouge, Fourrier 2013 Echezeaux, Fourrier 2013 Echezeaux, Fourrier 2013 Chablis Vaudesir, Fevre 2013 Chablis Preuses, Fevre 2014 Clos de la Roche V.V. Magnum, Ponsot 2012 Chablis Blanchots, Raveneau 05 Taittinger Comte de Champagne Blanc de Blancs Mag 03 Krug Brut 2012 Chablis Blanchots V.V., Billaud-Simon 2012 Chablis Blanchots V.V., Billaud-Simon
				2013 Bourgog 2013 Echezea 2013 Chablis V 2013 Batard N 2013 Chablis I 2013 Chablis I	2013 Bourgog 2013 Echezea 2013 Chablis V 2013 Batard N 2013 Chablis F 2011 Clos de I 2011 Musigny	2013 Bourgog 2013 Echezea 2013 Echezea 2013 Batard M 2013 Chablis F 2013 Chablis F 2011 Clos de I 2011 Musigny 2012 Chablis F	2013 Bourgog 2013 Echezea 2013 Echezea 2013 Chablis P 2013 Chablis F 2011 Clos de I 2011 Musigny 2012 Chablis F 2012 Chablis F				
				2013 Echezea 2013 Chablis V 2013 Batard N 2013 Chablis F 2011 Clos de I	2013 Echezea 2013 Chablis V 2013 Batard N 2013 Chablis I 2011 Clos de I 2011 Musigny	2013 Echezea 2013 Chablis V 2013 Batard N 2013 Chablis F 2011 Clos de I 2011 Musigny 2012 Chablis F	2013 Echezea 2013 Chablis V 2013 Batard N 2013 Chablis F 2011 Clos de l 2011 Musigny 2012 Chablis F 2012 Chablis F				

Scot T. Hasselman

Merchant: Premier Cru

8/16/2014	452669	2012 Clos Vougeot, Chateau de La Tour	¢99.99	2	\$199.98
8/16/2014	452669	2011 Morey St Denis Alouettes, Ponsot	\$69.99	2	\$139.98
8/15/2014	452473	2012 Beaune Clos des Ursules 1/2, Jadot	\$24.50	9	\$147.00
8/9/2014	452190	04 Pol Roger Brut Rose	\$59.99	2	\$119.98
8/2/2014	451510	2012 Clos de Beze V.V., Laurent	\$159.99	2	\$319.98
8/1/2014	451310	2012 Chablis Preuses, Fevre	\$51.99	4	\$207.96
7/31/2014	451160	2012 Clos des Lambrays	\$169.99	4	\$679.96
7/26/2014	450781	2011 Bonnes Mares, Roumier	\$499.99	2	\$999.98
7/19/2014	450206	2011 Chambolle Musigny Amoureuses, Jadot	\$179.99	2	\$359.98
7/19/2014	450204	2012 Gevrey Chambertin Fontenys, Roty	\$59.99	ŝ	\$179.97
6/21/2014	447955	2012 Bonnes Mares, Roche de Bellene	\$139.99	£	\$419.97
6/16/2014	447624	Jacquesson Cuvee 736	\$52.99	9	\$317.94
6/12/2014	447108	96 Krug	\$349.99	Ч	\$349.99
5/23/2014	445597	2010 Volnay Caillerets, Pousse d'Or	\$49.99	4	\$199.96
4/12/2014	442126	2012 Chablis Vaudesir, Fevre	\$59.99	£	\$179.97
2/15/2014	437440	2012 Chambolle Musigny, Hudelot Noellat	\$33.75	9	\$202.50
2/15/2014	437453	2012 Clos Vougeot, Hudelot Noellat	\$134.99	2	\$269.98
2/8/2014	436794	2012 Clos Vougeot Magnum, Jadot	\$155.00	Ч	\$155.00
2/1/2014	436103	2000 Taittinger Comtes de Champagne Blanc de Blancs	\$95.99	2	\$191.98
1/23/2014	435172	2012 Chambolle Musigny, Hudelot Noellat	\$45.00	4	\$180.00
1/18/2014	434796	2012 Chablis Bougros, Fevre	\$38.99	£	\$116.97
1/18/2014	434796	2012 Chablis Vaulorent, Fevre	\$37.04	£	\$111.12
12/28/2013	432415	2011 Nuits Chaignots, Chevillon	\$39.99	4	\$159.96
12/28/2013	432411	2011 Gevrey Chambertin Estournelles St Jacques, Jadot	\$59.99	£	\$179.97
12/28/2013	432411	2011 Gevrey Chambertin Lavaux St Jacques, Jadot	\$59.99	m	\$179.97
12/14/2013	430908	2011 Morey Clos de la Bussiere, Roumier	\$95.00	2	\$190.00
11/27/2013	429114	2011 Chateauneuf du Pape, Charvin	\$34.99	4	\$139.96
11/2/2013	426842	2011 Nuits les Cailles, Chevillon	\$59.99	m	\$179.97
8/20/2013	421234	2011 Chambolle Musigny Charmes, Ponsot	\$109.99	2	\$219.98
8/17/2013	421053	2011 Batard Montrachet, Jadot	\$149.99	2	\$299.98
8/3/2013	420000	2010 Echezeaux, DRC	\$649.99	2	\$1,299.98
7/27/2013	419600	2010 Vosne Romanee Beauxmonts, Roche de Bellene	\$69.99	£	\$209.97
7/19/2013	418693	2010 Vosne Romanee Beauxmonts, Roche de Bellene	\$87.99	£	\$263.97
7/13/2013	417939	04 Dom Perignon	¢99.99	9	\$599.94

м. 1

7/13/2013	417941	2011 Corton Charlemagne, Bouchard	\$79.99	2	\$159.98
7/13/2013	417941	2011 Montrachet, Jadot	\$249.99	2	\$499.98
6/25/2013	416619	2011 Vosne Romanee Suchots, Jadot	\$59.99	4	\$239.96
6/22/2013	416402	04 Dom Perignon	¢99.99	9	\$599.94
6/15/2013	415792	04 Taittinger Comtes de Champagne Blanc de Blancs	\$99.99	12	\$1,199.88
6/8/2013	415164	2011 Clos Vougeot V.V., Ponsot	\$225.00	2	\$450.00
6/8/2013	415175	2010 Bourgogne Grand Ordinaire, Roty	\$9.99	12	\$119.88
5/24/2013	413899	09 Beaune Greves l'Enfant Jesus, Bouchard	\$52.99	4	\$211.96
5/24/2013	413899	09 Beaune Teurons, Bouchard	\$29.99	9	\$179.94
5/24/2013	413899	2011 Chablis les Clos, Fevre	\$45.00	4	\$180.00
5/24/2013	413899	2011 Chablis Preuses, Fevre	\$45.00	4	\$180.00
5/20/2013	413606	2011 Corton, Bouchard	\$79.99	9	\$479.94
5/15/2013	413043	2010 Chateauneuf du Pape, Charvin	\$58.99	4	\$235.96
5/9/2013	412451	2010 Vieux Ch Certan	\$279.99	2	\$559.98
Total					\$25,765.28

, r